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https://www.100test.com/kao_ti2020/646/2021 2022 2010 E5 B9
B412 E6_c83 646521.htm There are 20 blanks in the following
passage. For each blank there are four choices marked A), B), C) and
D ). You should choose the ONE that best fits into the passage. Then
mark the corresponding letter on Answer Sheet 2 with a single line
through the centre. 62. A) possible B) potential C) available D)
proficient 63. A) what B) when C) how D) which 64. A) expose B)
explode C) export D) expand 65. A) those B) this C) these D) that
66. A) which B) it C) that D) and 67. A) affect B) have affected C)
have been affected D) affecting 68. A) anyhow B) anyway C)
somehow D) somewhat 69. A) due to B) according to C) as towww.
[ xamda.CoMO O O 0O O O 0O O D) because 70. A) originated B)
originated C) to originated D) originating 71. A) was combined to
B) was combined with C) combined to D) combined with 72. A)
past B) passed C) through D) passing 73. A) acquire B) inquire C)
require D) request 74. A) which B) that C) in which D) in that 75. A)
removes B) takes C) brings D) dismisses 76. A) therefore B) however
C) though D) accordingly 77. A) result from B) settle down C) lie in
D) resultin 78. A) effect B) effort C) afford D) affect 79. A) natural
B) artificial C) normal D) unnatural 80. A) been accustomed to B)
been accustomed with C) been familiar to D) been familiar with 81.
A) leads B) leads to C) guideswww.[] xamda.CoMU O 0O O O O [
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